THE BIBLE'S USE OF NUMBERS

TABLE OF CONTENTS

Preamble	
Section 1 - The Meaning of Numerical Values	
Section 2 - Examples of the Bible's Use of Numerical Values	7
Number 37	7
Number 144	
Number 153	
Number 276 a	
Number 276 b	
Number 666	
Number 2040	

Preamble

The Bible contains hidden characteristics which tell us much about what the text overtly describes. One of these hidden characteristics involves numbers, the study of which is called *Gematria* by the rabbis and early Christians, *Numerics* by Ivan Panin and his followers, and *Theomatics* by Del Washburn and his followers.

Because both Hebrew and Greek lack numerals, they use letters of the alphabet to represent numerical values. For example, 1 is represented by *aleph* in Hebrew and *alpha* in Greek; 2 is represented by *beth* in Hebrew and *beta* in Greek; 3 is represented by *gimel* in Hebrew and *gamma* in Greek; 4 is represented by *daleth* in Hebrew and *delta* in Greek; 5 is represented by *he* in Hebrew and *epsilon* in Greek; etc.

Because every letter possesses a numerical value, every word, phrase, sentence, paragraph, chapter, and book also possesses a numerical value. Moreover, students of this phenomenon quickly discover that each number bears a meaning. For example, 1 stands for unity or God; 2 stands for division; 3 stands for the Godhead or the Trinity, which consists of three distinct persons, God-the-Father, God-the-Son, and God-the-Holy Spirit; 4 stands for creation (the Godhead plus something else which is not God); 5 stands for the grace of God; 6 stands for fallen Mankind or imperfection; 7 stands for spiritual perfection, completeness, fullness, and rest; 8 stands for new beginnings, new life, renewal, regeneration, rebirth, and resurrection; 9 stands for completeness, conclusion, finality, judgement; 10 stands for divine order, ordinal perfection, especially with respect to authority, law, responsibility, or testimony; 11 stands for disorder, disintegration, disorganization, and imperfection; and 12 stands for divine government, governmental perfection, and the chosen; etc. Thus, for example, the fact that the Bible gives us seven views of the Throne Room of God communicates spiritual perfection to us.

Section 1 - The Meaning of Numerical Values

- 1. UNITY, primacy, <u>God</u>, beginning *1st prime number*.
- 2. **SEPARATION**, division, difference; also <u>God-the-Son</u>; also enmity, opposition; also 2 = 1 + 1 (something versus its opposite); also *2nd prime number*.
- 3. **DIVINE PERFECTION**, the Godhead, the Trinity; also God-the-Holy Spirit; also completeness, entirety, solidity (cube), reality (time = past, present, & future; space = height, width, & depth; matter = mineral, vegetable, & animal); also resurrection; also 3 = 1 + 1 + 1 (Father, Son, & Holy Spirit); also *3rd prime number*.
- 4. **CREATION**, material completeness; also mankind as creature; also 4 = 3 + 1 (God plus something outside of God).
- 5. **GRACE;** also redeemed man called out from mankind; also 5 = 4 + 1 (mankind as creature plus something added from God); also *4th prime number*.
- 6. FALLEN MANKIND; also imperfection; also human labor; also 6 = 4 + 2 (mankind as creature plus enmity against God) or 5 + 1 (grace plus something added by man that renders grace of no effect) or 7 1 (something less than spiritual perfection).
- 7. SPIRITUAL PERFECTION, completeness, fullness, and rest; also 5th prime number. Examples:
 - In the Bible: seven occurs 287 (= 7 x 41) times, seventh occurs 98 (= 7 x 14) times, and seven-fold occurs 7 times; 287 + 98 + 7 = 392 = 7² + 7³ = 7² x 8; seventy occurs 56 (7 x 8) times.
 - God created the heavens and the earth in 7 days, and then rested on the 7th day, the Sabbath (Genesis 2:2).
 - Enoch, who walked with God, was the 7th patriarch (Genesis 5).
 - The 7th mention of Noah in the Bible records that he was perfect in his generations (Genesis 6:9).
 - God instructed Noah to board the clean beasts by 7s (Genesis 7:2).
 - The flood started 7 days after Noah entered the ark (Genesis 7:9-10).
 - God gave a 7-fold blessing to Abraham (Genesis 12:2-3).
 - God promised the land of Canaan to Israel 7 times (Genesis 12:7, 13:14-17, 15:7, 15:18-21, 17:8, 26:3, and 28:13).
 - Pharaoh dreamed of 7 fat years and 7 leans years (Genesis 41).
 - God gave a 7-fold promise to the nation of Israel (Exodus 6:6-8).
 - The consecration of Aaron and his sons lasted 7 days (Leviticus 8:31-36).
 - On the Day of Atonement, blood was sprinkled on th mercy seat 7 times (Leviticus 16:14).

- God instructed Israel to observe 7 feast days (Leviticus 23:1-44).¹
- Israel's Jubilee Year followed 7 sabbaths of years (7 x 7 = 49) (Leviticus 25:8).
- On the 7th day of the battle for Jericho, the Israelites led by 7 priest bearing 7 trumpets marched around the city 7 times (Joshua 6).
- The construction of the temple took 7 years (1 Kings 6:38).
- Naaman washed 7 times in the Jordan River, and he was cured of his leprosy (2 Kings 5:10 and 14).
- In the Book of Revelation, there the following sevens: 7 churches (1:4); 7 spirits of God (1:4 and 3:1); 7 candlesticks (1:12 and 1:20); 7 stars (1:16 and 1:20); 7 promises to overcomers (2-3); 7 commendations to the church at Ephesus (2:2-3); 7 horns and 7 eyes (5:6); 7 seals (6); 7 trumpets (8-9); 7 thunders (10:3-4); 7 angels with 7 plagues (15:7); 7 vials (16); and 7 new things (2:17, 3:12, 5:9, 14:3, 21:1, 21:2, 21:5)
- 8. **NEW BEGINNINGS**, 1^{st} of a new series, new life, renewal, regeneration, rebirth, new creation, resurrection; also superabundance; also 8 = 7 + 1. Example:
 - Numeric value of Jesus is 888.
- 9. **COMPLETENESS**, conclusion, end, finality, judgement; also 9 = 3 x 3. Examples:
 - Jesus' six hours on the cross ended at the 9th hour (Luke 23:44).
 - The Holy Spirit gives 9 spiritual gifts to Jesus' disciples².
- **10. DIVINE ORDER**, ordinal perfection, especially with respect to authority, law, responsibility, or testimony; also complete cycle. Examples:
 - Genesis contains a series of cycles: the cycle of creation is defined by 10 occurrences of the phrase "and God said³;" the cycle of corruption is defined by the lives of the first ten patriarchs⁴; and the cycle of promise is defined by the lives of the next ten patriarchs⁵.
 - God requires a tenth of our increase (responsibility).
 - God afflicted Egypt with 10 plagues (testimony to God's power)⁶.
 - God gave Moses 10 commandments (authority & law).

¹ <u>Seven feast days</u>: (1) Passover, (2) Unleavened bread, (3) Firstfruits, (4) Pentecost, (5) Trumpets, (6) Day of Atonement, and (7) Tabernacles.

² <u>Nine Spiritual Gifts</u>: (1) the word of wisdom, (2) the word of knowledge, (3) faith, (4) healing, (5) the working of miracles, (6) prophecy, (7) the discerning of spirits, (8) tongues, and (9) the interpretation of tongues (2 Corinthians 12:7-10).

³ <u>Ten Cycles of Creation</u>: (1) light, (2) firmament, (3) dry land, (4) flora, (5) the sun, moon, & stars, (6) birds & fish, (7) beasts, (8) men, (9) God's identification of himself as men's benefactor, and (10) God's commissioning of men as stewards (Genesis: 1-2).

⁴ <u>Ten Cycles of Corruption</u>: (1) Adam, (2) Seth, (3) Enos, (4) Cainan, (5) Mahaleel, (6) Jared, (7) Enoch, (8) Methuselah, (9) Lamech, and (10) Noah (Genesis 5).

⁵ <u>Ten Cycles of Promise</u>: (1) Seth, (2) Arphaxad, (3) Salah, (4) Eber, (5) Peleg, (6) Rehu, (7) Serug, (8) Nahor, (9) Terah, and (10) Abraham (Genesis 11).

⁶ <u>Ten Plagues of Egypt</u>: (1) blood, (2) frogs, (3) lice, (4) flies, (5) murrain – a disease afflicting beasts, (6) boils, (7) hail, (8) locusts, (9) darkness, and (10) death of the firstborn (Exodus 7-12).

- **11a.** 1^{st} meaning **DISORDER**, division, disintegration, disorganization, and imperfection; also 11 = 10 (divine order) + 1(something added) = 12 (divine government) 1 (something subtracted); Examples:
 - There were 11 dukes of Edom, an enemy of Israel (Genesis 36:40-43).
 - After Joseph's older brothers disposed of him, only 11 sons of Jacob remained (Genesis 37:31-35).
 - The trip from Horeb, "the mountain of God" (Exodus 3:1) at the northern border of the promised land, to Kadesh Barnea, a settlement at the southern border of the promised land where Israel balked (rebelled) at entering the promised land, took 11 days (Deuteronomy 1:2).
 - The lords of the Philistines paid Delilah 1,100 pieces of silver to deceive Samson (Judges 16:5).
 - Micah stole and then returned 1,100 shekels of silver belonging to his mother, and she used a portion of them to create a graven image for Micah's house (Judges 17:1-3).
 - Jehoiakim, the wicked king of Judah, and Zedekiah, the rebellious king of Judah, each reigned 11 years (2 Kings 23:36 and 2 Chronicles 36:11-12).
 - Jesus lived 33 years (3 x 11) and then was "cut off" (Daniel 9:26).
 - After Judas Iscariot committed suicide, the apostles numbered 11(Acts 1:26) and immediately felt the need to restore the number to 12, which the 120 disciples did by appointing Matthias (Acts 1:15-26).
- 11b. 2nd meaning JUDGEMENT. Examples:
 - The cursed Canaan (Genesis 9:25) had 11 sons (Genesis 10:15-18).⁷
 - The destruction of Pharaoh and his armies in the waters of the Red Sea was the 11th plague to fall on Egypt.
- 12. DIVINE GOVERNMENT, governmental perfection, the chosen; also $12 = 3 \times 4$, or the heavenly number times the earthly number. Examples:
 - There were 12 patriarchs born after the Flood. ⁸
 - There were 12 sons of Jacob.⁹
 - There were 12 tribes of Israel¹⁰ they were positioned relative to the tabernacle as follows: 3 to the north, 3 to the east, 3 to the south, and 3 to the west i.e. 3 x 4 Levi was in the tabernacle.

⁷ <u>Eleven Sons of Canaan</u>: Sidon, Heth, the Jebusite, the Amorite, the Girgasite, the Hivite, the Arkite, the Sinite, the Arvadite, the Zemarite, and the Hamathite.

⁸ <u>Postdiluvian patriarchs</u>: (1) Arphaxad, (2) Salah, (3) Eber, (4) Peleg, (5) Rehu, (6) Serug, (7) Nahor, (8) Terah, (9) Abraham, (10) Isaac, (11) Jacob (renamed Israel), and (12) Joseph. Although Shem was born before the Flood, he became a patriarch after the Flood. If Shem is included among the postdiluvian patriarchs, then Jacob, the definer of the Hebrew people, was the 12th patriarch.

⁹ <u>Twelve Sons of Jacob</u>: (1) Reuben, (2) Simeon, (3) Levi, (4) Judah, (5) Dan, (6) Naphtali, (7) Gad, (8) Asher, (9) Issachar, (10) Zebulun, (11) Joseph, and (12) Benjamin (Genesis 29:32-30:24 and 35:16-18).

¹⁰ <u>Tribes of Israel</u>: There were actually 13 tribes – 11 named after sons of Jacob (Reuben, Simeon, Levi, Judah, Dan, Naphtali, Gad, Asher, Issachar, Zebulun, and Benjamin) and two named after sons of Joseph (Ephraim and Manasseh) (Numbers 1:5-15), but Levi was never numbered among the children of Israel (Numbers 1:49), and only 12 tribes are ever mentioned in any list.

- There were 12 judges of Israel¹¹.
- There were 12 apostles¹².
- There were 120 disciples (12 x 10, or *divine order times governmental perfection*).
- Jesus began to "be about my father's business" (Luke 2:49) when he was 12 years old (Luke 2:42).
- Jesus could have called upon 12 legions¹³ of angels in the Garden of Gethsemane (Matthew 26:53).
- New Jerusalem is defined by twelves¹⁴ (Revelation 21:9-27).
- **13. REBELLION**, apostacy, and defection; also corruption, depravity, disintegration, revolution, superstition, and fear. Examples:
 - Nimrod, the founder of rebellious Babylon, was the 13th in the line of Ham (Genesis 10:6-10).
 - The four kings of the vale of Siddim¹⁵ rebelled against Chedorlaomer, king of Elam in the 13th year (Genesis 14:4).
 - The often disobedient nation of Israel was split into 13 tribes when the tribe of Joseph was split into the tribes of Ephrain and Manasseh.¹⁶
 - Of the 21 sins listed against Israel in the wilderness, the 13th sin was when Israel rebelled and refused to enter into the promised land (Numbers 14:6-9).
 - On the 13th day of the first month, Haman decreed death to the Jews on the 13th day of the twelfth month (Esther 3:8-13).
 - Jesus listed 13 characteristics¹⁷ of the rebellious heart (Mark 7:21-22).
 - The Dragon (Satan) is mentioned 13 times in the Book of Revelation (12:3, 12:4, 12:7 twice, 12:9, 12:13, 12:16, 12:17, 13:2, 13:4, 13:11, 16:13, and 20:2).
 - The men of Sodom were identified as "wicked sinners before the Lord" in the 13th verse of the 13th chapter of Genesis.

¹¹ Judges of Israel: There were actually 13 leaders of Israel during the period of the Judges – 12 judges (Othniel, Ehud, Shamgar, Deborah, Gideon, Tola, Jair, Jephthah, Ibzan, Elon, Abdon, and Samson) and 1 king (Gideon's son, Abimelech, who usurped power and made himself king over Israel. If Abimelech is counted as a judge, however, but then Deborah subtracted, there were 12 *male* judges over Israel.

¹² <u>Apostles</u>: Peter, Andrew, James (son of Zebedee), John, Philip, Bartholemew, Thomas, Matthew, James (son of Alphaeus), Simon (the Zealot, a Canaanite), Judas Iscariot, and a twelfth whom Matthew and Mark identify

as Thaddaeus, but Luke calls "Judas the brother of James" (Matthew 10:1-4; Mark 3:14-19; and Luke 6:13-16). ¹³ Legions: A Roman legion consisted of 6,000 men. Jesus's 12 legions consists of 72,000 angels (=144 x 100 x

⁵⁾ or (governmental perfection² x divine order² x grace – God's perfect, powerful, pure battalion).

¹⁴ <u>New Jerusalem</u>: The city is 12,000 (=12 x 1,000) furlongs wide, 12,000 furlongs deep, and 12,000 furlongs high. Its wall are 144 (= 12×12) cubits high. It has 12 foundations (each named for an apostle) and 12 gates (each named for a tribe of Israel).

¹⁵ <u>Four kings</u>: Bera, King of Sodom; Birsha, king of Gomorrah; Shinab, king of Admah; and Shemeber, king of Zeboiim and Bela (Zoar).

¹⁶ <u>Thirteen tribes</u>: Reuben, Simeon, Levi, Judah, Dan, Naphtali, Gad, Asher, Issachar, Zebulun, Ephraim, Manasseh, and Benjamin. References to the Twelve Tribes of Israel omit the tribe of Levi, which consisted of the priests and did not receive an inheritance of land (also see note 8).

¹⁷ <u>13 charactistics of a rebellious heart</u>: evil thoughts, adulteries, fornications, murders, thefts, covetousness, wickedness, deceit, lasciviousness, an evil eye, blasphemy, pride, and foolishness.

- 14. **DELIVERANCE**, salvation; also 14 = 2 (God-the-Son) x 7 (spiritual perfection). Examples:
 - Israel was delivered from bondage on the 14th day of the month (Exodus 12:6-7).
 - There were three sets of 14 generations from Abraham to Messiah (Matthew 1:7).
 - Paul journeyed to Jerusalem 14 years after his conversion (Acts 15:1-2 and Galatians 1:1-2).
 - Paul encouraged his shipmates on the 14th day of the month, and all were saved (Acts 27:33-44).

15. SPIRITUAL REST

- 15 = 7 (God rested) + 8 (new birth)
- Three times a year Israel rested on the 15th day (Leviticus 23:6-7, Leviticus 23:34-35, Esther 9:20-22).
- The 15th time Naomi is mentioned (Ruth 3:1), she seeks rest for Ruth through Boaz, her kinsman redeemer.
- The term "kinsman" occurs 15 times in the Book of Ruth.

16. - Incomplete -

17. also *eighth prime number*.

18.

- **19.** also *ninth prime number*.
- 20.
- 21.
- 22.
- 23. also tenth prime number.
- 24.
- 25.
- 26.
- 27.
- 28.

- **29.** also *eleventh prime number*.
- **31.** also *twelfth prime number*.
- 32.
- 33.
- 34.
- 35.
- 36.
- **37.** also *thirteenth prime number*.

Section 2 - Examples of the Bible's Use of Numerical Values ¹⁸

The numbers and mathematical patterns below are embedded in the text of the Holy Scriptures. Their existence is real and undeniable. To ignore them – or worse, to deny them – is both foolish and offensive to their Author, who put them there to instruct His subjects.

Number 37

37 is the base number on which all references to Jesus are structured.

37 x 1 = 37 =	God (Daniel 4:2) ^{C-188}
37 x 1 = 37 =	Only Son ^{C-188}
37 x 1 = 37 =	Power ^{C-188}
37 x 1 = 37 =	Only begotten C-188
37 x 2 = 74 =	A great God (Psalm 95:3) ^{C-189}
37 x 2 = 74 =	Their Redeemer (Jeremiah 50:34) C-189
37 x 2 = 74 =	Foundation ^{C-189}
37 x 2 = 74 =	Everlasting ^{C-189}
37 x 3 = 111 =	Jehovah God* (Genesis 3:9)

¹⁸ References are as follows: (A) <u>Theomatics</u> by Del Washburn, (B) <u>Theomatics II</u> by Del Washburn, (C) <u>Beginnings – The Sacred Design</u> by Bonnie Gaunt.

Shepherd* (John 10:2)
Everlasting righteousness (Psalm 119:142) C-188
He lives (Isaiah 33:5) C-188
He rules (Psalm 66:7) ^{C-188}
God (Elohim) is my King of old (Psalm 74:12) C-188
Lamb for a burnt offering* ¹⁹ (Genesis 22:8)
The door (John 7)
Lord of hosts (1 Samuel 1:3)
God* (NT)
The holy one (Acts 3:14)
I am Jehovah, I change not (Malachi 3:6)
Jesus ^{A-50}
Her begotten* (Matthew 1:20) A-51
Lord God* (Revelation 15:3)
Lord of the Sabbath
The Messiah* (John 1:41) A-63
Godhead (Colossians 2:9)
Lord (NT)
And she will bear a son* (Matthew 1:21) A-51
Lord Jesus ^{**20} (Revelation 22:20)
The child Jesus* (Luke 2:27) ^{A-53}

 $^{^{19}}$ * indicates that the numeric value of the text is one more or one less than the total to the left. 20 ** indicates that the numeric value of the text is two more or two less than the total to the left.

37 x 37 = 1,369 =	Image of God (2 Corinthians 4:4)
37 x 40 = 1,480 =	Christ (NT)
37 x 42 = 111 x 14 = 1,554 =	My beloved Son* (Luke 20:13)
37 x 43 = 1,591 =	I am the good shepherd* (John 10:11)
37 x 48 = 111 x 16 = 888 x 2 = 1,776 = (Revelation 7:17)	The lamb in the midst of the throne*
37 x 54 = 111 x 18 = 1,998 =	Name of Jesus* (Acts 5:40)
37 x 57 = 111 x 19 = 2,109 =	Worthy is the lamb Who was slain** (Revelation 5:12)
37 x 60 = 111 x 20 = 2,220 =	Unto you that fear My name, there shall arise a son of righteousness, with healing in His wings (Malachi 4:2)
37 x 60 = 111 x 20 = 2,220 =	Name of Christ* (1 Peter 4:14)
37 x 63 = 111 x 21 = 2,331 =	Christ the Lord* (Luke 2:26)
37 x 64 = 2,368 =	Jesus Christ
$37 \ge 66 = 111 \ge 22 = 2,442 =$	Jesus, the name given by the angel (Luke 2:21)
37 x 66 = 111 x 22 = 2,442 =	Morning star** (2 Peter 1:19)
37 x 66 = 111 x 22 = 2,442 =	Bright morning star** (Revelation 22:16)
37 x 69 = 111 x 23 = 2,553 =	The marriage supper of the lamb* (Revelation 19:9)
37 x 72 = 111 x 24 = 888 x 3 = 2,664 =	The Lord God is one (Matthew 12:29)
37 x 75 = 111 x 25 = 2,775 = (John 1:14)	The word became flesh and dwelt among us*
37 x 78 = 111 x 26 = 2,886	This child* (Luke 2:17) A-53
37 x 80 = 2,960 =	Son of man (Matthew 13:37) A-47

37 x 81 = 111 x 27 = 2,997 =	Behold, a virgin shall conceive and bear a son* (Matthew 1:23) ^{A-51}
37 x 84 = 111 x 28 = 3,108 =	Her begotten of the spirit is holy (Matthew 1:20) A-51
37 x 84 = 111 x 28 = 3,108 =	Name of the holy child Jesus (Acts 4:30) A-53
37 x 84 = 111 x 28 = 3,108 =	His eternal power and godhead (Romans 1:20)
37 x 84 = 111 x 28 = 3,108 =	The lamb of God who takes away the sins of the world* (John 1:29)
37 x 87 = 111 x 29 = 3,219 =	The Lord God almighty* (Revelation 21:22)
37 x 90 = 111 x 30 = 3,330 =	Name of the Lord Jesus* (1 Corinthians 5:4)
37 x 90 = 111 x 30 = 3,330 =	The great shepherd of the sheep** (Hebrews 13:20)
37 x 93 = 111 x 31 = 3,441 =	The one Who created the heavens and the earth* (Revelation 14:7)
37 x 93 = 111 x 31 = 3,441 =	The light of the world* (John 8:12)
37 x 96 = 111 x 32 = 888 x 4 = 3,552 =	His name was called Jesus, the name given by the angel** (Luke 2:21) ^{A-52}
37 x 102 = 111 x 34 = 3,774 =	She bore a son and called the name of Him Jesus** (Matthew 1:25) ^{A-52}
37 x 102 = 111 x 34 = 3,774 =	My beloved Son in Whom I am well pleased (2 Peter 1:17)
37 x 102 = 111 x 34 = 3,774 =	The God of heaven (Revelation 11:13)
37 x 111 = 111 x 37 = 4,107 =	This is my beloved Son* (2 Peter 1:17)
37 x 111 = 111 x 37 = 4,107 =	Only begotten Son, Who is in the bosom of the Father (John 1:18)
37 x 120 = 111 x 40 = 888 x 5 = 4,440 =	The Lord Christ (Colossians 3:24)
37 x 120 = 111 x 40 = 888 x 5 = 4,440 =	The mediator, a man Christ Jesus* (1 Timothy 2:5)

37 x 120 = 111 x 40 = 888 x 5 = 4,440 =	God sent his only begotten Son into the world (1 John 4:9)
37 x 135 = 111 x 45 = 4,995	Jesus, the name given by the angel before He was conceived in the womb (Luke 2:21) ^{A-53}
37 x 144 = 111 x 48 = 888 x 6 = 5,328 =	Melchizedek, king of Salem, priest of the most high God** (Hebrews 10:21)
37 x 146 = 2 x 37 x 73 = 5,402 =	For in Him dwells all the fullness of the godhead (Colossians 2:9)
37 x 153 = 111 x 51 = 5,661 =	You will conceive in your womb, and bear a son, and you shall call the name of Him Jesus (Luke 1:31) ^{A-52}
37 x 159 = 111 x 53 = 5,883 =	And they will call His name Emmanuel, which is being interpreted – with us God** (Matthew 1:23) ^{A-51}
37 x 168 = 111 x 56 = 888 x 7 = 6,216 =	Yes Lord, I believe that Thou art the Christ, the Son of God* (John 11:27)
37 x 168 = 111 x 56 = 888 x 7 = 6,216 =	Entered Jesus, the one having become a high priest forever after the order of Melchisedek (Hebrews 6:20)
37 x 168 = 111 x 56 = 888 x 7 = 6,216 =	Holy, Holy, Holy, is the Lord God almighty, Who was and is and is to come** (Revelation 4:8)
37 x 192 = 111 x 64 = 888 x 8 = 7,104 =	The power of the most high will overshadow you, and for that reason the holy offspring will be called thew Son of God* (Luke 1:35) ^{A-52}
37 x 201 = 111 x 67 = 7,437 =	But in these last days, he spoke to us through a Son (Hebrews 1:2)
37 x 213 = 111 x 71 = 7,881 =	In Him was life, and the life was the light of men (John 1:4)
37 x 219 = 111 x 73 = 3 x 37 x 73 = 8,103 =	= King of kings, and Lord of lords (1 Timothy 6:15)

 $\frac{Introductory\ Documents}{}\ by\ John\ Holbrook\ Jr.\ \Columnwidth{\mathbb{C}}$ 3-The Biblical God & his fingerprints in the Bible – Draft 2020-07-17

37 x 225 = 111 x 75 = 8,325 =	His name was called Jesus, the name given by the angel before He was conceived in the womb (Luke 2:21) ^{A-52}
37 x 240 = 111 x 80 = 888 x 10 = 8,880 =	Behold, a virgin will conceive and bear a son, and they will call the name of Him Emmanuel, which is being interpreted – with us God* (Matthew 1:23) ^{A-51}
37 x 288 = 111 x 96 = 888 x 12 = 10,656 =	The water which I shall give him shall become in him a fountain of water springing up to life eternal (John 4:14)

Number 144

144 is the base number on which references to the chosen are based.

144 x 6 = 864 =	Saints (Revelation 8:3)
144 x 6 = 864 =	Thousands* (Revelation 14:1)
144 x 6 = 864 =	Jerusalem (Revelation 3:12)
144 x 7 = 1,008 =	The faith (Revelation 14:12)
144 x 7 = 1,008 =	The 144 thousands* (Revelation 14:1)
144 x 8 = 1,152 =	New Jerusalem* (Revelation 3:12)
144 x 8 = 1,152 =	Witness (Revelation 12:11)
144 x 8 = 1,152 =	Seven churches** (Revelation 1:20)
144 x 9 = 1,296 =	Seven lampstands (Revelation 1:12)
144 x 9 = 1,296 =	Come out, My people (Revelation 18:4)
144 x 11 = 1,584 =	Priests of God (Revelation 20:6)
144 x 13 = 1,872 =	The ones who are clothed in white robes** (Revelation 7:13)
144 x 17 = 2,448 =	Ones dying in the Lord (Revelation 14:13)
144 x 27 = 3,888 =	The holy city, New Jerusalem, coming down out of heaven (Revelation 21:2)

144 x 28 = 4,032 =	The ones coming out of the great tribulation (Revelation 7:14)
144 x 29 = 4,176 =	As many as would not worship the image of the beast** (Revelation 13:15)
144 x 30 = 4,320 =	He that endureth to the end shall be saved* (Matthew 24:13)
144 x 31 = 4,464 =	Seal the servants of our God* (Revelation 7:3)
144 x 32 = 4,608 =	And no one could learn the song except the 144 thousands, the ones purchased from the earth* (Revelation 14:3)
144 x 37 = 5,328 =	The one who reads and those who hear the words of the prophecy* (Revelation 1:3)
144 x 38 = 5,472 =	Blessed are those servants whom the Lord shall find watching when He comes* (Luke 12:37)
144 x 39 = 5,616 =	They overcame him by the blood of the lamb and the word of their testimony (Revelation 12:11)
144 x 52 = 7,488 =	Here is the endurance of the saints, who keep the commandments of God and the faith in Jesus* (Revelation 14:12)
144 x 74 = 10,656 =	And I will write on him the name of My God, and the name of the city of My God, the New Jerusalem (Revelation 3:12)
144 x 98 = 14,112 =	These have been purchased from mankind as firstfruits to God and the lamb, and in their mouth no lie was found, for they are blameless* (Revelation 14:4-5)
144 x 116 = 16,704 =	And behold, the great multitude which to number it no one was able, from every nation, from all tribes** (Revelation 7:9)

Number 153

153 is the base number on which references to the redeemed are structured.

153 x 8 = 1,224 =	Fishes (Luke 9:13)
153 x 8 = 1,224 =	The net (John 21:11)
153 x 20 = 3,060 =	Casting a net into the sea (Matthew 4:18)
153 x 37 = 5,661 =	I say to you I am the door of the sheep* (John 10:7)
153 x 39 = 5967 =	If anyone hears My voice and opens the door, I will come in** (Revelation 3:20)
153 x 54 = 8,262 =	Drew the net to land full of great fishes, a hundred and fifty-three (John 21:11)
153 x 64 = 9,792 =	He called them, and they immediately left the boat, and their father, and followed Him (Matthew 4:21-22)

Number 276 a

276 is the base number on which references to the Satanic kingdom are based.

276 x 1 = 276 =	Satan* (Matthew 16:23)
276 x 1 = 276 =	In hades** (Acts 2:27)
276 x 3 = 828 =	Hell* (Matthew 23:33)
276 x 3 = 828 =	Demon possession* (John 10:21)
276 x 4 = 1,104 =	According to the operation of Satan* (2 Thessalonians 2:9)
276 x 4 = 1,104 =	Power to cast into hell* (Luke 12:5)
276 x 5 = 1,380 =	Lie* (John 8:44)
276 x 6 = 1,656 =	Beelzebub* (Luke 11:15)
276 x 6 = 1,656 =	The dragon* (Revelation 13:4)
276 x 6 = 1,656 =	How art thou fallen from heaven, oh Lucifer, son of the morning (Isaiah 14:12)

276 x 6 = 1,656 =	Time elapsed from the Fall to the Flood in years
276 x 7 = 1,932 =	Hell fire unquenchable** (Mark 9:43)
276 x 8 = 2,208 =	The evil one (1 John 5:19)
276 x 9 = 2,484 =	Follow Satan* (1 Timothy 5:15)
276 x 13 = 3,588 =	The accuser of our brethren (Revelation 12:10)
276 x 14 = 3,864 =	I beheld Satan fall from heaven (Luke 10:18)
276 x 15 = 4,140 =	He is a liar and the father of lies* (John 8:44)
276 x 15 = 4,140 =	The prince of the power of the air** (Ephesians 2:2)
276 x 15 = 4,140 =	The ruler of this world is coming* (John 14:30)
276 x 16 = 4,416 =	The ruler of the demons (Luke 11:15)
276 x 20 = 5,520 =	And He was in the wilderness forty days be tempted by Satan** (Mark 1:13)
276 x 30 = 8,280 =	A king, the angel of the bottomless pit, whose name in Hebrew is Abaddon, and in Greek he has the name Apollyon* (Revelation 9:11)

Number 276 b

276 is also the base number on which references, not to the law itself, which is $perfect^{21}$, but to man's attempt to keep the law.

276 x 2 = 552 =	Stone tablets* (2 Corinthians 3:3)
276 x 2 = 552 =	The law says* (1 Corinthians 14:34)
276 x 2 = 552 =	Religion* (Acts 26:5)
276 x 3 = 828 =	Under law** (Galatians 4:21)
276 x 3 = 828 =	Name of the beast ²² (Revelation 13:17)

²¹ 700 = 7 x 100 = The law (Ephesians 2:15)
²² The beast-out-of-the-earth symbolizes false religion.

276 x 4 = 1,104 =	Tablets of the covenant (Hebrews 9:4)
276 x 4 = 1,104 =	The letter killeth** (2 Corinthians 3:6)
276 x 5 = 1,380 =	The inhabited earth* (Revelation 16:14)
276 x 6 = 1,656 =	The first covenant (Hebrews 9:15)
276 x 6 = 1,656 =	By works of the law*** (Galatians 2:26)
276 x 7 = 1,932 =	Mystery of the woman ²³ (Revelation 17:7)
276 x 8 = 2,208 =	The Sabbath day (Luke 13:14)
276 x 9 = 2,484 =	All things written in the law** (John 10:24)
276 x 10 = 2,760 =	For through the law comes a full knowledge of sin (Romans 3:20)
276 x 11 = 3,036 =	The customs which Moses delivered*
276 x 13 = 3,588 =	The law in commandments in ordinances (Ephesians 2:15)
276 x 17 = 4,692 =	Cursed is everyone who does not abide by all things written in the law* (Galatians 3:10)
276 x 18 = 4,968 =	The righteousness of the scribes and the Pharisees** (Matthew 5:20)

Number 666

666 is the base number on which references to the world system (the integration of commerce and hierarchical, coercive government) are based.

666 x 1 = 111 x 6 = 666 =	Adversary* (1 Peter 5:8)
666 x 1 = 111 x 6 = 666 =	Wonders (2 Thessalonians 2:9)
666 x 1 = 111 x 6 = 666 =	In the world* (John 1:9)
666 x 1 = 111 x 6 = 666 =	Merchants of the earth (Revelation 18:3)

²³ The whore of Babylon recalls Semiramus,, the stunningly beautiful prostitute who became the wife of Nimrod, the founder of Babylon. She seduces the unwary with appeals to "…all that is in the world, the lust of the flesh, and the lust of the eyes, and the pride of life…" (KJV1 John 2:16).

666 x 1 = 111 x 6 = 666 =	The kingdom* (Revelation 17:17)
666 x 1 = 111 x 6 = 666 =	Where the harlot sits* (Revelation 17:15)
666 x 2 = 111 x 12 = 1,332 =	The kingdoms of the world (Luke 4:5)
666 x 2 = 111 x 12 = 1,332 =	Kings of the inhabited earth* (Revelation 16:14)
666 x 2 = 111 x 12 = 1,332 =	Merchandise* (2 Peter 2:3)
666 x 3 = 111 x 18 = 1,998 =	Elements of the world** (Galatians 4:3)
666 x 3 = 111 x 18 = 1,998 =	Mouth of the dragon** (Revelation 16:13)
666 x 3 = 111 x 18 = 1,998 =	Blasphemy against God** (Revelation 13:6)
666 x 3 = 111 x 18 = 1,998 =	Those who had received the mark of the beast* (Revelation 19:20)
666 x 5 = 111 x 30 = 3,330 =	The whole world wondered after the beast ²⁴ *** (Revelation 13:3)
666 x 5 = 111 x 30 = 3,330 =	The beast which carries her [the whore of Babylon] (Revelation 17:7)
666 x 6 = 111 x 36 = 3,996 =	The man of sin, the son of perdition* (2 Thessalonians)
666 x 6 = 111 x 36 = 3,996 =	The great city ²⁵ having a kingdom over the kings of the earth** (Revelation 17:18)
666 x 6 = 111 x 36 = 3,996 =	Those who worship the beast and its image Revelation 14:11)
666 x 6 = 111 x 36 = 3,996 =	Whoever receives the mark of its name* (Revelation 14:11)
666 x 6 = 111 x 36 = 3,996 =	According to the operation of Satan with all power and sings and wonders** (2 Thessalonians 2:9)
666 x 7 = 111 x 42 = 4,662 =	Ruler of this world (John 16:11) A-47

²⁴ The beast-out-of-the-sea represents the world system - the integration of commerce and hierarchical, coercive government.²⁵ Babylon the Great, another name for the beast-out-of-the-sea.

666 x 8 = 111 x 48 = 5,328 =	And the woman that you saw is the great city having a kingdom over the kings of the earth (Revelation 17:18)
666 x 9 = 111 x 54 = 5,994 =	The men who bore the mark** (Revelation 16:2)
666 x 12 = 111 x 72 = 7,992 =	Children, it is the last hour; and just as you hear the antichrist is coming* (1 John 2:18)
666 x 12 = 111 x 72 = 7,992 =	And the dragon gave to it its power and its throne and great authority** (Revelation 13:2)
666 x 13 = 111 x 78 = 8,658 =	Then the lawless one will be revealed whom the Lord Jesus will slay with the breath of His mouth (2 Thessalonians 2:8)
666 x 15 = 111 x 90 = 9,990 =	The one therefore having wisdom, let him calculate the number of the beast: for it is the number of man, and it is six hundred and sixty- six (Revelation 13:18)
666 x 16 = 111 x 96 =10,656 =	And it provides that no one should be able to buy or sell, except the one who has the mark, or the name of the beast, or the number of its name (Revelation 13:17)
666 x 40 = 111 x 240 = 26,640 =	It causes all, the small and the great, and the rich and the poor, and the freemen and the slaves, to be given a mark on their right hand or forehead** (Revelation 13:16)
Number 2040	
2,040 =	The mystery of lawlessness operates (2 Thessalonians 2:7)
2,040 =	Antichrist (John 4:3)
2,040 =	The great tribulation (Revelation 7:14)